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100 REM B @My ITRE
110 REM
120 REM*:::.::«..::«.! e o by 2 e o%a. 80 ke e e o p ke o ohe ol e oot e ate e e oy oo oke o8 " sk st
130 CLS:KEY QFF: SCREE 2
140 LU”"(3 5)-(825,350),1,B ”~
150 PRINT CHR$(27):"t24,180,50,2/1,s8:1---45 8 & 0 89 8 ¥z :
1690 PRINT "HR$(27):"t24.180.90.../1.o:2-'-$fﬂ'::ﬂ 1B b -
170 PRINT CHR$(27):"t24,180,130,2/1,5:3---18 84 "“5';1_5?.—;:— mesgyrIE®E"
180 PRINT CHRE(27):"t24,180,170,2/1,s5:4---4% -k
190 PRINT CHRE(27):"¢24,180.,210,2. 1. 335 & —I9 (1,2,.2m 4, M ¥ Enter)
200 PRINT CHRE(27)s"tl16:"
210 A$=INKEYS:IF Ag="" THEN 210
220 0X=320:0Y=205:UX=-20:0V=_7xUX
230 M%=VAL(A$) :IF MZ<O1 AND M¥<>O2 AND M¥%<>2 AND ¥¥%<>4 THEM REEP:GQOTO
240 ON MY¥ GOTO 300,590,840,25¢0
250 CLS: LI‘!E("O,ZO)—(S"O 320),1,B:PRINT CHR$(27);:"¢+24,220,128,110,2/2
260 PRINT CHRS(27):"t16:"
27C¢ A$=INKEVY$:IF Ag="" THEN 270
280 END
200 "uErkmREsrsrEraERy R M e
300 CLS: LTP’E(U.R)-(SVU.&)O).L.U
310 GOSYUB 12890
8320 Mmoo o lLllll___
330 LOCATE 2,2:PRINT :
340 LOCATE 2.2:PRINT "35# A\ 53 BB B0 V=0 " xf9 JE B a. {3,530, Flar 1"
350 IMPUT BASE
360 IF BASE<=0 OR BASE=1 THEN BEEP:LOCATE 2,1:PRINT STRINGE(80," "):
6OTO 320
370 BASES=STRE(BASE) :EASES-RIGHTS (BASES, LEN (BASES) -1)
380 IF BASE<1 THEN l\\““" "Q"+RASES
390 LOCATE 23,10:PRINT "2 y=";BASES:""x1y R
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400 FOR X=-14 TO 14 STEP .1

410 Y=BASE"X

420 GX=0X+X*UX:GY-0Y-YxUY

420 IF G¥X<1 OR G¥>83¢ OR GY<20 OR GVY>302 THEMN 450
440 PSET(GX,GY) :X1=(GX-0X)/UX:GQTO 45¢

450 NEXT X
460 FOR X=X1 TO 14 STEP .1

479 Y=BASE"X

480 GX=0X+X*UX:GY-0Y-Y*UY

490 IF GX<1 OR GX>639 CR GY<30 CR GY>303 THEM 510

500 LINE-(GX,GY?

510 MEXT X

520 IF GY/12-1>24 QR GVY/12-1<1 OR GX/8>79 OR GX/8<1 THEN 530

530 LOCATE 23,45:PRINT "HEE— R (y/n) 7"
- 540 A$=INKEYS
550 IF Ag="" THEN 540
560 IF A$="y" OR A$="Y" THEN LINE(5,330)-(630,345),0,BF:G0OTC 330
570 IF Ag="n" OR Ag="N" TP“N 130 ELSE 5490

EQN R u«4w*m«aa*&*«**w**.\.*»*a-*.p*.a.«.u--u*-n..»..a..a.a*a-**a..»..n.
SOV h RS A g Ry > e %

590 CLS:LINE(3,5)-(835,350),1,B:CGOSYB 1280

500 LOCATE 2,2:PRINT "

810 LOCATE 2,2:PRINT "M M A Y MENGHERa, 8. .020,Aa#1":

620 INPUT BASE

630 IF BASE<=0 OR BASE=1 THEN BEEP:LOCATE 2,1:PRINT STRINGS(80," "):
GOTO 3232 '

640 BASE$=STR$(BASE) :BASES-RIGHTS (BASES,LEN(BASES)-1)

650 IF BASE<! THEN BASE$-"0"+BASES

860 LOCATE 23.10:PRINT "E U ":BASES: " B2 ¥ R @O EE "
670 FOR X=.02 TO 14 STEP .1

r

6§80 Y=LOG (X) /LOG (BASE)

690 GX=0X+XxUX:GY=0Y-Y2UY

700 IF GX<1 CR GX>8639 OR GY<30 CR GY>303 THEN 720
710 PSET(GX,GY) :X1-(GX-CX)/UX:GOTC 730

720 MNEXT X
720 FOR X=X1 TC 14 STHP .1

740 Y=L0G (X) /LCG (BASE

780 GX=CX+XsUX:GY-0Y- Y*JY

760 IF GX<1 OR GX>639 OR GY<30 OR GY>303 THEN 780
770 LINE-(GX,GY)

780 MEXT X

790 IF GY/12-1>24 OR GY/12-1<1 CR GX/8>79 OR GX/8<1 THEN 800

200 LOCATE 23,45:PRINT "B ®—x (y/n)?"

810 A$= INKEY$ IF A$="" THEN 810

820 IF A$="y" OR A$="Y" THEN LINE(5, 330)-(630,345),0,BF:GOTO 600
830 IF A$="n" OR A$="N" THEN 130 ELSE 810

240 CLS: LINE(3 5)-(635,350),1,B:GOSUB 1280

8590 'INE(0X+UX*-9 0Y-UVY%-9)-(0X+UX%12,0Y-0Y¥*12)

870 LOCATE 2,2:PRINT ©

880 LOCATE 2,2:PRINT "8 A B %o, B a>0 . Aa#1";

890 INPUT BASE |

900 IF BASE<=0 OR BASE-1 THEN BEEP:LOCATE 2,1:PRINT STRINGS(80," "):

cNTN KO0

[FR VI VIR o RVA Y
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010 BASES=STRE(BASE):B/SE$=RIGHTS (RASES,LEN(BASES)-1)

020 IF BASE<1 THEN BASE$="0"+BASES

930 LOCATE 14,50:PRINT "Z LI ":BASES:"A K 2 $ % a8
040 FOR X=.02 TO 14 STEP |1

950 Y=LOG(X)/LOG(BASE)

260 GX=0X+XxUX:GY=0V-V2UY

970 IF GX<1 QR GX>629 QR GY<30 OR GV>20
280 PSET(GX,GY):X1=(GX-0X)/UX:GOTO 1000
990 NEXT X

1000 FOR X=X1 TO 14 STEP .1

1010 Y=LOG(X)/LOG(BASE)

10290 GX=0X+XxUX:GY=-0V-Y2UY

IF GX<1 OR GX>639 OR GY<30 CGR GY>302 THEN 1050

>
N
>

GX=0X+X2UX:GY-QV-Yzyy :
IF GX<1 OR GX>539 OR GY<30 OR GY>303 THEN 1180
LINE-(GX,GY)

1
1040 LINE-(GX.GY)
1050 NEXT X
1060 LOCATE 7,20:PRINT " Ll ";BASES:"A B 2 % B 1y =
1070 FOR X=-14 TO 14 STEP .1
1080 Y=BASE"X
1080 GX=0X+X:UX:GY-0V-VaUY
1100 IF GX<1 OR GX>839 COR GY<30 QR GY>302 THEN 1120
1110 PSET(GX,GY):X1=(GX-0X)/UX:GOTO 1120
1120 NEXT X
20 FOR X=X1 TO 14 STEP .1
40 Y=BASE"X
50
60
70

r- 22

EX
F

< -3
Nk

¥/12-1>24 OR GY/12-1<1 OR GX/8>79 OR GX/8<1 THEN 1200
LOCATE 23,45:PRINT "HE® —X (y/n)?"

A$-INKEYS

IF Ag="" THEN 1210

IF A$-"y" OR A$="Y" THEN 8790

R 2 I3 I IUN SO o W Jo W oY

<><D<Z><><><><D<><><>O<><>OO<DOOOO°<>OOOO<)<>OO<>

LINE(0X-300,0Y)-(0X+300,0Y)

LINE(0X,0Y-170)-(0X,0Y+128)

LINE(0X+295,0Y-2)-(0X+300,0Y)

LINE-(0X+295,0Y+2)

LINE(0X-2,0Y-165)-(0X,0Y-170)

LINE-(0X+2,0Y-165)

FOR X=0X-280 TO 0X-+280 S
LINE(X,0Y+2)-(¥,0Y-2

EXT X

CR Y=0Y-12=yVY TO

Feb bt ced hed bk kb bt b bt bed b bed fd b b ke b ke b e b e e et
O WL LW WL LWIEI LI LI LI PO IO B PO O PO ke bt bt ok ot s b

N
F

OO0 =3 €N 5T dx (W BV F= <D D D0 =J P LT L) BO b= €D D 00

0Y+9xUY STEP UV
13 LINECON-2,Y)-(0K+2,Y)
13 NEXT Y
14 FOR X-0X-280 TQ0 0X+280 STEP UX
14 FOR Y-QY-12xUY TO QV+QuUY STEP UV
14 CIRCLE(X,Y),1,1,,,.7
14 NEXT Y
14 NEXT X
14 LOCATE 0Y/14,0X/8-1:PRINT "Q"
14 LOCATE 0Y/14-1, (0X+300)/8+1:PRINT "x"
14 LOCATE (0Y-170)/14,0X/8-1:PRINT "y"
14 RETURN
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